AOP B [ we FAGEIEATR | F46EEART | FHBEERT | FH43EIEARTR
L P FAk FHERE | FM—FAMKER | PFARRE | FHEXRS

1 TiEEA A e 1110 600 420 90
2 Good shot R P 1 1080 420 90 420 150
3 JEREEETC Sl E T 990 150 90 600 150
4 Fl— PR B 870 600 270
5 HLTC FERT IR 600 600
6 Fxl D % AT 470 270 200
7 FAA gV I EE T 450 90 90 270
8 JEAHKE N IR 420 420
9 FEATC HO B4y 390 150 150 90
10 Fx o ATC FrH ME 370 90 140 140
11 NTT R&D EE A 360 90 270
12 FEATC i BT 350 150 200
13 FxlL IS 330 90 90 150
13 V=—JE K KIE 72+ 330 90 90 150
13 HETY FHigg #h 1 330 90 90 150
16 Fx o ATC KE HA 300 270 30
16 F=— AR 300 150 150
16 F=— NS 300 150 150
19 Fxl— g R T 270 270
19 HOHETC VAT FIIT 270 270
19 HETY ik YRFD 270 90 90 90
19 T [EEEE 270 270
23 HEARTC EIESH 210 150 50 10
24 F ¥ ATC i UL A 180 30 150
25 Frl LT i ) 174 150 18 6
26 F L ATC Ay ERE1- 170 90 50 30
27 FEATC e RiET 140 90 50
28 F L ATC A I+ 126 30 90 6
29 Fxl— (LT R 120 90 30
29 FAAT 3k PR ZRER 1 120 30 90
31 F ¥ ATC KIS &+ 104 14 90
31 FAA =k TH &1 104 14 90
31 V=—ER KH fa1 104 14 90
31 FxlL LI e+ 104 14 90
35 Avbh AV MR A6 90 90
35 F=— rhﬂ kiR 90 90
35T AA vk 6T %0 L
35 HOETC ?ﬁ = (BT 90 90
35 JEAREEETC Jfi K2 90 90
35 HLTC T8 %ﬁﬁ 90 90
35 F¥ L ATC B HEAT 90 90
35 HIEARTC /NP AT 90 50 40
43 F=— W 2 NE 80 30 50
44 HIJER HE BT 60 30 30
44 HOHETC I Fp A 60 30 30
46 HiET7 AT AR 54 14 30 10
47 7Y i ERL 50 50
47 Fxl D eSS 50 50
47 HLTC e 50 50
50 2H—TC WO EH 1 48 14 28 6
50 HOHETC Il HE 48 30 18
52 HLTC A EE 44 14 30
53 Frl L AR i 40 40
53 JEAREETC P 40 40
53 HETY IRy Tt 40 40
56 HLTC HE EE 30 30
56 FA A avhk )1l i 30 30
58 FrlL L M R4S 28 28
58 JEREEETC B A&V 28 28
58 F L ATC ST —1ERE 28 28
61 Avbh AV P 81 26 10 6 10
62 HLTC [l 24 18 6
63 FxlL H [7] 0\% 22 6 10 6
63 HLTC A E 1 22 6 10 6
63 Fxl— R ES 22 6 6 10
63 HETY T &Y 22 6 10 6
67 JEAREBETC BN ME 18 18
67 Fx o ATC g IE 18 18
67 FAAT 3k BHi% = 18 18
67 FyL D BE EE 18 6 6 6
67 T.0.P RER SR 18 18
67 F ¥ ATC AF BB 18 6 6 6
67 [Fvb 1o JEI % ¢ 18 18
74 A —TC L h Hup 16 10 6
74 FEATC 10 BT 16 6 10
76 JEARERETC —FR 14 14
76 Fh A~ Dk 14 14
76 FEATC £ BT 14 14
76 HETY /s FEES 14 14




AOP TR B4 wa HAGEIEATR | F46EEART | FHBEERT | FH43EIEARTR
T PTRE RAUR FHERE | b—FAIRE | MFAMKRE | FHEXRS
76 JEKHKF SEH 21 14 14
76 HEARTC JHR FE T 14 14
76 Frl LT INFESS 14 14
76 2HZ—TC A 14 14
76 Fl— RS 14 14
85 HLTC [ 10 10
85 JEREEETC (L H ET 10 10
85 HLTC AE TP 10 10
85 FEATC H o EHE 10 10
85 HIER = 10 10
85 HOHETC T jpg ffar AT 10 10
91 Fxl D W) fE 1 6 6
91 FxlL D B ETS 6 6
91 JEREEETC HH BT 6 6
91 Frl L i ilfy SE75 1 6 6
91 2HZ—TC —F LT 6 6
91 Avbh AV JILE B 1 6 6
91 HIEARTC TR #Y3E 6 6
91 HETY IR G IEA- 6 6
91 FAA = T2 A3 6 6
91 FAA = T2 A& 6 6
101 F L ATC i 1 W1 0
101 FrlL L Ve FLAd A 0
101 Fx L ATC wE 0
101 F=— SFN A ER 0
101 FrlL L 5 b R 0
101 V=—JEK ZEPE T % 0
101 FAA avh /NEF B 0
101 [F=V— ENEES 0
101 Lvh, A~ R S 0
101 Lvh, A~ = T 0
101 B Nl AT 0
101 Fx o ATC KH T 0
101 HIJER IR ST A 0
101 JEAREFETC FEIE EE 0
101 HETY e 0
101 V=—JEK B BRI 1 0
101 7Y e 22 0
101 FUATC L DST 0
101 FUATC A IEE 0
101 FEATC HidE 25 E 0
101 Avbh AV it BE 0
101 BT KL 0
101 HETY B S 0
101 JEAHKE PN 0




